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1. BEEBOE
(1) Bgn
OEAXMEERKE 150,000 150,000 150,000 300,000
Q=B=E 1,650,000 1,650,000 1,350,000 3,000,000
QF I 2,669,000 30,000 2,699,000 2,699,000
@B 1,947,000f 1,100,000 3,047,000 3,047,000
OFH£%E 412,000 200,000 0 612,000 450,000 1,062,000
(OGF e 0 0
TN ET 5,028,000 1,330,000 1,800,000 8,158,000 1,950,000 0 10,108,000
(2) #EEm 0 0
(OEES 0 0
WRFLY 600,000 600,000 600,000
EAEER 1,159,000 324,000 1,483,000 1,483,000
BMFEAHE 276,000 198,000 474,000 474,000
EMHEE 1,601,000 520,000 2,121,000 2,121,000
HEME 5,000 5,000 5,000
Bt 433,000 171,000 604,000 604,000
REXBE 1,506,000 114,000 133,000( 1,753,000 1,753,000
BIEERE 335,000 60,000 395,000 395,000
FIRI A 460,000 100,000 560,000 560,000
RBOKEE 120,000 80,000 200,000 200,000
iR 54,000 56,000 110,000 110,000
B 220,000 220,000 220,000
ZTOMEEE 110,000 23,000 133,000 133,000
EBEEH 6,279,000 1,646,000 733,000] 8,658,000 0 0 8,658,000
QERE 0
HBEFY 0 600,000 600,000
BIELE 0 0 0
=& 0 100,000 100,000
WRERXBE 0 200,000 200,000
HERE 0 40,000 40,000
BIEERE 0 140,000 140,000
FIRI A 0 50,000 50,000
RBOKEE 0 100,000 100,000
EEH 0 200,000 200,000
EBEAE 0 264,000 264,000
RIRE 0 80,000 80,000
wREEH 0 10,000 10,000
EiF-g- 0 113,000 113,000
bk AN 0 13,000 13,000
HIFHH 0 20,000 20,000
B 0 20,000 20,000
QEBEt 0 0 0 0 1,950,000 1,950,000
BEER 6,279,000| 1,646,000 733,000] 8,658,000 1,950,000 0 10,608,000
LHARRE R -1,251,000 -316,000 1,067,000 -500,000 0 0 -500,000
2. BENMEBOL
BESIEE
BESMREET 0 0 0
BENER
BENERAG 0 0 0
LR E MBS 0 0 0
thiHREEE 0 0 0 0
L —ARIEREBAEERSHEE | —1,251,000 -316,000 1,067,000 -500,000 0 0 -500,000
—RERMESREES 0 0| 46,000,000] 46,000,000] 26,484,000 0] 72,484,000
—BERMESRXRES -1,251,000f -316,000] 47,067,000] 45,500,000{ 26,484,000 0] 71,984,000
I, 5 IF R EIRB DR
2L #1578 IF Wk BA EE R AE 0 0 0
EEEKRMESHEES
EEERMESHRES
MIFREAEEIRES -1,251,000f -316,000] 47,067,000] 45,500,000{ 26,484,000 0] 71,984,000




